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Note : Four possible cholces A,B,C,D to each question are given. Which choice Is corract, fill that circle In front of that question
number. Use marker or pento fill the circles. Cutting or filling two or more circles will resuit in zero mark in that question.
& wl) e o é? g £47 uf e U St 14y
Which Operator has highest precedence among the followings : (1)
A / ® = © > @O !
Which of the following is not a Reserve Word : D e s Y S Ll Ut St @)
(A) Auto (B) Break Q© If (D) Small
cvf et ahind S phpn e ) @)
A Software that facilitates programmer in writing Computer Program is known as ------- :
(A) Compiler A (B) An Editor 44/ (C) An IDE (D) A Debugger ,Sub
Scanf is a --=--—- in C Programming Language : '@ & - (X éﬁg ;@DC{ C Scanf | (4)
(A) Keyword £i.56* (B) Library . Jz4U (C) Function uﬁa (D) None of these S
Which Part of For Loop is Executed first” : P % & o AP e ¥ For Loop | (5)
(A) Condition 57 (B) Body (3} (C) Initilization 2% % (D) Increment/ Decrement (,( 7 St
) The advantages of using Functions are -------- : PO - 09 L L)UL-'*'"! s ,-‘ﬁ (6)
‘*7 (A) Readability quLtg&g (B . Reusability  J&=Li.|
| (C) Easy Debugging LTt s (D) All-these i
In If Statement, Condition is enlosed in ---—-: : q—t'blaol Py g ap— c}'?'if o o I )
@ () ® { Y © ] D) X X
: bl T oy ol el o oo ®)
------- make it easier to read and write values in array :
(A) Loops o (B) Conditions Lfﬁ (C) Expressions /?'Afg' (D) Functioﬁs /"":’
Hle B e,a oo Moy « ot it )
Which of the following is the condition to check "a " is a factor of " ¢ "
A) a%bc==0 B)c%a==0((Cagtc==0(@D a+c==0
Array elements are stored at ---- memory locations: : ugz_m,b Y '/"‘!)’du!.' — i £ it} (10)
(A) Contiguous L+ (B) Scattered S5
(C) Divided ¢~ (D) None of these ety
’
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Note : It is compulsory to attempt (4-4) parts each from Q.No.2, Q.No.3 and Q.No.4 and attempt
any (02) questions from Part IT. Write same Question No. and its Part No.as given in the Question Paper.

24=2x12 B W P = ”‘2»3 (Part-1) d,w Make Diagram where necessary. -g[/b:yndu/’ul(z

_-zz-caﬁ 28 A Lo 2GR 0 240w

Write the name of two functions for Input in C-Language.

Solve the given Expression. 4+ 7% (10-5) ST Jf,nlé{!; (i)
What is the use of Assignment Operator? ¢ +Jb""l s }f.{'ﬂ.‘ﬂ" (il
What is meant by Character Set? fe A e é{}gf (iv)
How int Data Type can be declare? ¢ u”?é/ 4 4( s FFhkd int (v)
Define Computer Program. «é&—ﬁ’/ g rij@}g,{ (vi)
Define Control Stateménts. -2.‘!6 -..é!j’ J bbb J 5 008" (i) 3/.;Uly'
Why we need Selection Statement? ?q.afﬁu:fau/“ J .*wf‘-"? u’g" u.‘.'q (i)
What is Sequential Control ? S bl g e it gSopsa (1)
What will be the output of the following code ¢ : Jn VRN S’ St (v)

{

inta=7,b=10;
a=at+b;

b= Db-.aj
printf) ("% d % d",a,b);

}

What is meant by Data Structure? ?4..:'/&[ &, f:}’l&ﬁ v)
Declare an array that can store any 10 values. S ' uﬂ? I U Jf 2 q.’/ /".."3 & Ug {vi)
Define Loop. -2“.;_4/7 g o ) 4y
What is meant by Initialization in For Loop ? ?.;;_:l/t[ o S5 J{ For Loop (ii)
Write about the Reusability of the functions. -é;fduﬁé_zyﬁ-dbf*‘l i & ﬁ (ifi)
Find Errors in. the following Code : ..’:?';J!ﬁ‘ BV IPBY 4 3;0_’564: (iv)

int product ( int nl1 ; int n2 )
return n1 K n2 ;

-é,‘!%t L'f"ﬂu!.&«k I é:@C W)
Write the name of Two Built In Functions in the C - Language.
What does the Return Type of a Function Indicate? e 8/ yi1's s J u”a (vi)
16 = 2x8 ( Part -1l ) .2
8 Describe the structure of C-Program in detail. | 2l b F{511 rljj{ c 54w
8 =2+1+1+1+1+1+1 2 eoln e U T S« apgT Ay

What is meant by Operators ? Describe Relational Operators with example,

8 </ 2y 2 n2 S For Loop & sl 10 ¢ 1 zae%uﬁ{ L 1A

Write a Program that print numbers from 1 - 10 using For Loop.
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Note : Folr possible choices A,B,C,D to each question are glven. Which cholce is correct , fill that clrcle infront of that question
number. Use marker or pento fill the circles. Cutting or flliing two or more circles will result in zero mark In that question.

Symbol used for Single Line Comment is ------ : 2 q.gszlr'ffl el L v Judﬁf 1)1
A 4/ ® /X X/ © /- -/ D) XX kX (1)
« Cyp uro” LS b bedads e @)
----- can be thought as a container to store Constants

(4) Box '} (B)Jar b (C) Variable /2 (D) Collection o5

et Jo AL A wqul s e o i getch ()] ()
getch( ) is used to take - as Input from user :

(A) int (B) float (C) char (D) All these (U

D e u"l:"‘ Z 6)@ C c«LU'u:(c—uﬁJ”L?Jﬁ" @)
Which of the following is~True about C- Language
(A) C is not a Case Sensitive Language ?"ﬂ} 5}@‘ ¥ u"'-’ g C
(B) Keywords can be used as variable names ﬁ:.Cﬁ(gQUWl{J) Lrh‘:c«lf:’ S W es
(C) All Logical Operators are Binary.Operators (Jfd-s J/‘(.{Td/"@ J/‘.-.{TJ?U(U
(D) None of these Sl L

In If Statement, Condition is enlosed in -----=- i/ : G‘Lt‘(gbi Py [P - SR e ® (5)
@a () @ | } © [ 1 O % ¥

e (E) 42 8m, nd o b e < Ut dits| (6
Which of the followings is the condition to check if nds, a factor of m :

(A) n% m==0 B m%n==290 (C)min==0(D) m+ n==0

Lt Lot s g P Gl e ) L] ()

Array Elements are stored at ------ Memory Locations :

(A) Conﬁguous &4 (B) Scattered Jnd/'r (C) Divided | (’/ (D) None - uﬁﬁf

s & S LS e L Lo ) (8)

Nested Loop is using a -----inside a loop :
(A) if (B) if-else (C) Loop (D Condition ef-'-lf

:q—cft'f’ﬂ&"uﬁ for (i=1;i<10;i++); 9
In for (i=1;i<10;i++), the Initialization part is
A) i=1 (B) i<10 (€ 1i++ (D) for

¢ tn Jf é‘; Ergs f O e J* For Loop| (10)
—---- part of For Loop is executed first :
(A) Initialization H7 U4 (B) Condition By
(C) Body git (D) Increment /Decrement eg/$5 # 2ecfi
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Note : It is compulsory to attempt (4-4) parts each from Q.No.2, Q.No.3 and Q.No. 4 and attempt
any (02) questions from Part I . Write same Question No. and its Part No. as given in the Question Paper.

24 =2x12 BuﬂP f2,'~>r3 (Part - | ) d,w IMake Diagram wheré necessary, -g{"b«yndu/bulg,
Write down any two rules of Naming Variables, ..’é (/’ Ay :? K &, rt£ :Jﬁ”' (U] Z/JLV

Write any two Reserve Words in C- Language. -é {f 5@ u:; »edy I 5.@(3 (i)
Differentiate between Char and int. -éc)y J/ V¢ int usl Char (iti)
Solve the given Expression. 7+3 K (12 +4) -éffd’ s et éé.: (iv)
Draw a Truth Table of AND Operator. “&alu Hary A4T AND (v)
What is NOT Operator ? Draw its Truth Table. el J*;B/‘ Fuite 44T NOT (vi)
Define Control Statement. -2';;4}7 J M-{U:/ (i) 3/.‘Ulr
Write down types of Selection Statements, -é _(f (‘U" ur Ui o W50 (i)
Write down the Structure of If Statement. ..’4‘.’6 43 € If Statement (i)
Find the Errors in the given code : if (a > 10); _r:;ifu‘w f e S 3 é‘:é.; (iv)
Printf (" Hello ") ;
How is an Array Element Accessed ? ?q..()"c HJU" (rélaé..f Ug L st '...L.'I (v)
How we can Initialize an Array? S S s d: PAPRY I« A (i)
Describe the use of Nested Loop. gk Je ¥ - s () 4R
Write General Syntax of For Loop. AT LAy ¥ For Loop (i)
Write the types of Function. -a'.‘.‘?tﬁf S S8 (il
Identify Error in the following Program : ..éfl: iyl JJ’“ o (l);{du’.t(w (iv)

void sum ( int a, int b)

{
}

What is the Output of following code : P e s it J 3 St (v)
int xyz (int n)

{
}

int main ()

{

return a+b ;

returnn+n;

intp= xyz(5);
p=xyz(p);
printf ("%d", p);

What is Built- in - Function ? fe s gﬁgug._uy {vi)
16 = 2x8 (Part-ll)(»,t?
h Heoln § Ul Sl 2 Ef o Lt 54U
What is Data Type ? Explain different Data types of C-Language. ‘
8 ' “Zeols § y sl Sapiyt £ Oy S 4T 6
Define Operator. Explain different types of Arithmetic Opertors.
8 “Eyf (g€ LS o X e S " PAKISTAN " 2std JJi1 § For Loop 74

Write a Program to print " PAKISTAN "ten times on Computer Screen using For Loop.
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